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ECONOMICS
Paper : ECO0200104

(Basic Elements of Economics)

Full Marks : 60

Time : 2% hours

The figures in the margin indicate

full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following : 1x8=8
CEREINT B (o7l 8
(a) State the main difference between a

(b)

parameter and a statistic.
A5 O SIFET A4 AL Bl |

For the following data, obtain the value
of the mode :

OoTd O IS W [T 71 ¢
54 65 55 65 53 54 51 57 65 53
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(¢)

(d)

(e)

(9)

Distinguish between Simple Arithmetic
Mean (SAM) and Weighted Arithmetic
Mean (WAM).

FANEE] IFRARER TG B OGS AR TS A2
1|

“Index numbers reflect weights of
different commodities.”

(Write True or False)

wﬁ\mﬁﬁﬁmﬁa—ﬁm@wr’
(761 G farmy fasir)

Financial Dualism implies the
coexistence of and A

: (Fill in the blanks)
G (3wt , N » RIEED
@R (=Tt 312 999 )

Define disguised unemployment.

R SRR et |

The HDI 2010 is the GM/AM of
normalised indices,

(Choose the correct option)

HDI 2010 2 75RiFs s GM/AM |
(% Cewchr Az G6T)

BO2FN 0017 2

(h) Economic growth is a broader/narrower
concept than economic development.
(Choose the correct option)

Sl 3 2o ST Rl 3/ (05
qF gl (waeo! AR TlTed)

2. Answer any six from the following

questions : 2x6=12
S Esoio] awﬁ‘r 2siq ©ed forall ¢

(a) Point out two main differences between
primary and secondary data.

2l S (Tl S 757 S sAle |

(b) Explain briefly the method of stratified
random sampling.

BIge A efon{ 2moto! bc It 1 |

() Mention two uses of the cost of living
index number.

G 4196 T PRI zﬁrw@mafal

(d) Mention the significance of purchasing
power parity. -

TET FANTOR wieor] &) |
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(e) Define ‘Sustainable Development’.

IRTFA OFT e Ly |

(/) What is demographic dividend ?
GARRIS el &2

(g) Write any two demographic features of
India. :
SIS Rl 76 Geelfes CafdiEy |

(h) What is meant by a Financial System ?

e =gl IFE [ @ e

(i)  Distinguish between money market and
capital market.
T4l TEE T [ TG 2L B

() Define agricultural labour households.

FRACT =i =R s B

3. Answer any four from the following :
5x4=20

R #Rl R 55T Tew e

(@) From the following table, calculate the

median marks obtained by the
students.

BO2FN 0017 e

o] SIfEERTE 7] 292 e 9 4N 999

Sl R4 |
Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100 |
r|'§
No. of Students ) 3 11 20NN 2 25 7
PR

(b) What is an index number ? What are
its main features ?

2+3=5

o 7 52 TW A4 @REIEE & B

(c) _Calculate. cost of living index number
'~ from the following data :

ol OUARE 2K G 96" T HF Sl

4l 8
[ Asticle (@) Price (%) | Rs. (%) | Weights (%19)
2010 2020 : :
Food (per kg) 20.00 24.00 4
3 (ds af)
Cloth (per meter) 1.25 1.50 3
9l (2fe FOR)
Rent (per room| 2.00 8.00 2
vl (o o)
Miscellaneous (per unit) 2.00 2.00 1
i (dfe 439)
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(@)

(e)

(9)

(v

Bo2FN 0017

Why is PCI not a good index of
economic development? Discuss.

PCI Sigtafos REMia @ o 755 fom wmge -

SICEo ¢4 |

Differentiate between economic growth
and economic development.

w121 i o weltafes [ema sty B

Highlight the components of a financial

system.

RER TRER SRAERT 59 Rl |

Illustrate the key elements of a well-
functioning financial system.

IS REI IRER 1 SAWIRGEIR o) 51 |

Explain the sector-wise composition of
India’s GDP. How does this sectoral
composition affect overall economic
growth ? 3+2=5

©IRSd GDP-F 4951% s{6f 121 a1 | Qe

ol e e et g oo

(eI 2

4. Answer any two from the following

"~ questions: 10%x2=20
O IR IRl e 7ol ©ed ol 8

(a) What does a measure of dispersion
indicate ? Name the different measures
of dispersion. For the following data,
obtain the value of the variance.

1+2+7=10

R e R et » R oI 1 et |
weTq SUEIT AN [vgaeis W Fefa |

Age Group 5-7 | 8-10| 11-13 | 14-16| 17-19
Rk

Moo of Students Ao P ea 3 92
BRG]

(bp) Examine the relative merits and
demerits of complete enumeration and
sample survey. Explain briefly the
principal steps taken in a sample

survey. 5+5=10

ol st O 2o T gEhE AR
WWW@WWIWWW
Sl B DI 3 |
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() What are the essential components of
HDI ? Explain the method of calculating

HDI. ; 4+6=10 -
HDI-F &G 9=l & e HDI SteIg
siate I 4 |

(d) Discuss the trend of national income
and per capita income of India. Analyse
the factors influencing the growth rate
of national income and its implications
for economic development.  4+6=10

ISEUEREG RACIEAC SR TR EACI R SR (it
9 | ISR SRS AOR (ARl FRER R
T wiE wdfes [aMe GRERT v{ﬁm
[t 4 |

(e) Discuss the role played by financial
system in the functioning of an

economy.
G Tqifey FwRee 6 lﬂ BISE|S| ﬁﬁl
IR <4l
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